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Solving Linear Systems by Graphs and Tables Name % J Je o

Explore - Day 2 " Date Period
y=Xx+2 _
The system 1 4 compares the heights of two frees, y represents height, and xrepresents the
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years since planting. Complete the table and graph the equations to represent the situation.
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Years Since Planting
1 After how many years will the frees be the same height? What is that height?
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2. Write ‘rhe pomT of intersection as an ordered pair.
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If an ordered pair is a solution, then the ordered pair will make both equations true.

3. Verify that your- ordered pair is a solution by sugsh’ru?mg values of xand yin each equation.’
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Complete the table for the system of equations. S A o
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7. What is the solution To the system above? How do you know Thcn‘? ~
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8. Mark and Martha are lab partners who just completed two tables for their Biology lab.
Unfortunately, some water from the nearby sink ruined parts of their table. Mark and Martha compared
what they could still read from the two tables. Help them determine the solution to the system of
equations,
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9. Solve the system of equations. Hint: Use your knowledge about slope to help complete the fables.
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Graph the following systems of equations. Name the solution to each system of equations as an ordered
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13.  How should you verify that your squTions are correct?
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